MAT 135, Discussion Questions 4.27

1. How can we tell the difference between a situation where two-samples are dependent versus

when they are independent?
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2. What is the formula for the test statistic for a 2-sample propartion test? What do all the

variables in the equation stand for?
P — ( ; F \:.’ RAr WA L‘J & M{,MMO&—\;‘
Z = __f =Pz | d‘{b(ﬂ zo0 5 ov add ~Np)
‘ U" ) - X )
\ Y V)('(\l ¥z P — .P‘ﬂj_fﬂL ((,uﬂ%@df&eﬁ iV\@‘v*)
oyt W

Pr ) Pr e Sl (Jv&-(z.waﬁw_a
o N are CGJ"'V%}JLLL.&LL‘KF? 5_;;&’VV7QQL fhrCa

3. Whatisthe fornlula for the confidence interval for the difference between two population

proportions?
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4. Under the assumption that the sample size for both groups is the same, what is the formula for
determining the minimum sample size for a confidence interval with a given margin of error E?
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5. The Harris Poll ¢

have on your bo

onducted a survey in which they asked “How many tattoos do you currently
dy?” Of the 1205 males surveyed, 181 said that they had at least one tattoo. Of

the 1097 females surveyed, 143 responded that they had at least one tattoo. Conduct a

hypothesis test t

women at the

| T . :
o determine if this evidence supports a claim that men have more tattoos than

= 0.01 level of significance.
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6. In cllmcal trials for the treatment of a skin disorder, 642 of 2105 patients receiving the current

standard treatm|ent were cured of the disorder, and 697 of 2115 patients receiving a new
proposed treatment were cured of the disorder. Does the new procedure have a higher cure
rate than the old method? Construct a 95% confidence interval to test the claim.
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7. Redo the abové roblem using a hypothesis test. Does your answer change? Ifit does, why [UULOS

might that happen?
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and universities around the country, educators are changing their approach to
a “teacher/lecture-centered model” to a “student-centered model” where

a laboratory environment in which students can proceed at a pace suitable to
eds and lecture is de-emphasized. In one school where this model was

e 743 students who enrolled in the traditional lecture model, 364 passed; of
udent-centered model, 335 passed. Is this good evidence that the new

igher pass rate?
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If we wanted to test that hypothesis at AACC at the 5% significance level, what kind of sample

size would be needed for both groups if we wanted to reject H,, if the passing rate of the
student-centered model was 3% different than the traditional lecture-model? For a

conservative estimate, assume the passing rate of the course is only 50% as that will give us the

most conservative estimate of the sample size needed.
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